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e Please check that this question paper contains 19 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

qut yv7 At § | 57 y9-97 § FoT 27 ¥oA § | Fe-97 qiea @S] §
fasifora 8 1
TS 37 H J97 &I 1 -5 % I9% J97 UF 37 H & | Fdb 97 & I

20 szl G 3% 757 &7 =ET |

GU8 § 7 Y97 G&IT 6 - 10 T Td%h I3 3T HH &7 8 | Iedh I3 H I
40 =51 8 37feres 787 &7 TR |

GU8 G 7 97 G&IT 11 - 16 7% Jcd% I3 AR 371 F7 & | Icdeb 97 T I
100 =5t @ 3iferes 787 57 F1e7 |

G 7 H Y97 G&I7 17 - 21 T T T97 Giel 37h] &7 & | I 97 & I
150 w153 @ 371¥% 787 87 F1aT |

G 7 4 ¥ G&ar 21 AT T STEIRT Y99 & | 39% FHR ST
ITH-Gi&dT 4 1e7/aT |

GUE T H Y97 G&IT 22 - 27 T Icdeh Jo7 B: 37h] F1 & | I J97 H FH
150 31531 @ 37ferss 757 517 F115T |

General Instructions :

()

(iv)

(iii)

(iv)

(v)

(vi)

(vii)

All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

Section C contains Questions number 11 - 16 of four marks each. The
answers to these questions should not exceed 100 words each.

Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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s A
SECTION A

Tiferd @9 o faeed & a1e, fha <9 1 39k TIH W ORh Tse LA uiwg hl
Tl HERIdT ITed 53 ? 1
arera

TR AT % g @) aeal o1 3g@ IR | L o=1

2
After disintegration of the USSR, which country got the permanent
membership of the UN Security Council in its place ?

OR

Mention any two components of traditional security.

‘FEea’ % SR Efafgd § 9 SH-81 e 98 g ? 1
(a) T%d 1 7Y B, S < I FFAM AT TS |

(b) T=Ea 1 3 B, A=, ATMYUH R TSHIdeh Wk & hROT fepet <31 6
TYAT |

(c) I=%d foerfyd 2xn < weh TRl fosivar 2 |
(d) T TAUSET GSAl, S T TS, hl Hed TRl HdT 8 |

Which one of the following statements about ‘hegemony’ is correct ?

(a) Hegemony means cooperation and alliance of some states.

(b) Hegemony means dominance of a state due to military, economic

and political power.
(c) Hegemony is a permanent feature of the developed countries.

(d) Hegemony always neglects international organisations like the
UN.
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gfgadt TeEYd qen qef Tosud A fohd-fera fommuTn @1 wiaffaca @
2 2
T

fg-gatara & 31 @ = I B 2 1

Which ideologies were represented by the Western alliance and the
Eastern alliance respectively ?

OR
What does the end of bipolarity mean ?

gATSETE! grel bl 3T fommymn i yg=E I S 3§ hiIE ql 9rare]
(FRIfEe) g1 & e st oft | 1

Identify the ideology of the Socialist Party which distinguished it both
from the Congress as well as the Communists.

‘T TR W 31 TS HI | 1
Explain the term ‘Plebiscite’.

QuE
SECTION B
T & Hifa frewes fagrat # @ @ fondl g fagmat =1 avia Hifsw e
A& AU IMT 3T L&A I FEET1 <1 3 | 1x2=2
srqa
TYH T Tl 86 gl d Tads <3N o T e s & e, fope e
fergl g SmEl o1 Ui i | 1x2=2

Describe any two Directive Principles of State Policy that aim to promote
international peace and security.

OR

Describe any two efforts made by the Prime Minister, Jawaharlal Nehru
to establish contacts between India and other newly independent
countries.
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1990 H Hed HHtee i fawiian s @ wE % fhl g gl 1 faverso

HifT | 1x2=2
T

TSfla el — SATaTe St ST J1fsd 3eed H el e a%d gaTl ? 2

Analyse any two effects of the implementation of the recommendations of
the Mandal Commission in 1990.

OR

How far did the Rajiv Gandhi — Longowal Accord succeed in its desired
goal ?

Ay Yoo H del-faeft e fohw ger wfgen e W U fBEr W9
T ? 2

How did the Anti-Arrack Movement become a part of women’s movement
in Andhra Pradesh ?

TR ‘A’ qT TR B’ H fSU U qeai o1 S1eiyu fiee i éx4:2
T A’ &Yy ‘B’

(a)  Uep TMEAATE Jar i)  253H, 1975

(b) Mg AR s FYkh (i) =T AHER

(c)  SATTAehIET <hl HTSUT (iii) WRRS 8T8

(d) Tk HHIATE! Shif~iehil (iv) AT G ohl TR

Match the facts given in Column ‘A’ with those in Column ‘B’ in a
meaningful manner :

Column ‘A’ Column ‘B’
(a) A Gandhian leader (i) 25 dJune, 1975
(b)  Appointment of Shah Commission (ii) Charu Majumdar
(c) Declaration of Emergency (iii) Morarji Desai
(d) A Communist Revolutionary (iv) Janata Party Government

5 P.T.O.



11.

12.

13.

T 3 favd Ig & @A I T o fIC gHT TRl st a1ed S arell Th

Y@ HROT IR HIT | 2
AYAT

ek AT o HRUT HATE TI H I8¢ B4 Tl THTS heIT0T <hl TR sIaEeT hi

forgl 21 fergaai bl SR HIRAT | Ixz=2

Highlight any one major reason that compelled both the superpowers to
avoid the risk of another world war.

OR

Highlight any two features of the old system of social welfare that got
destroyed due to shock therapy.

RCLERS
SECTION C

1975 H W] TR T STTATARIA o GRIF hi 75 Tehedl =R WehR <l TGN <
gui HIfST | Ixd=4

atera
1967 § WRA ¥ g Fqe 3TW A o fhra| IR THOMHI I IgQ HINC | Ixd=4

Describe any four types of excesses made during the Emergency imposed
in 1975.
OR

Mention any four outcomes of the fourth general elections held in India
in 1967.

“fova s i wiafaflEt ygE w9 @ faemsia o w Sfga 7 17 fava d% 6
wHt foegl wm nfafafert & am foee, s a/ag d faemsfiia e & fog
HEH &, 39 HIF i gfed hifT | Ix4=4

“Activities of the World Bank are focused on the developing countries.”
Justify the statement by naming any four activities of the World Bank
which really help the developing countries.

JeffeRtur o fohegl IR ATEhideh IHTET Sl ITFR HIRT | Ixd=4
Highlight any four cultural effects of globalisation.
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15.

16.

17.

SN drehd o A H lihl g=ieg I 9R 3N hl gEEdT § TS
T | Ix4d=4

AT

e <hl i =R fosivand wase hHifSu | Ixd=4

Explain the U.S. hegemony as a structural power with the help of four
examples.

OR
Explain any four features of ASEAN.

Tl o v, fova & g galfas SMuen 9t ¢nl, YRd 3R WH % o9
GEYT ! T FHNIHS AT THEd S o 37 gRI TohT T ATET T UM
T | 4

Describe the efforts made by India and China to establish a more positive
and sound relationship between the two most populous countries of the
world after independence.

o gEaid AT AR g dadta Je % 9 g o I ST T

HIT | 2+2=4
AAAT

1948 H 2eUETE o WRA | foe o fore et afdfeufat i samen Hifm | 4

Explain any two major differences between the First Five Year Plan and

the Second Five Year Plan.
OR

Explain the circumstances that led to the accession of Hyderabad to India
in 1948.

T us T
SECTION D

fo iU U oA w1 eaHYEe AR iy 3R fEfiiRe el % 3T

WA <h1 F& WHITT o <l T guer smeneti ¥ Hued i d9rl 8
S off | T JTAEATS! FHE! H HHI-HEI X NG ° T §H i HIRW
& | U 3 TUSHT Tehdl ol SHT WA & foIU Alehdii=eh TSHIfder saaeen &
YT 3R UTeH ok |
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()  Tor T &1 o STeETIEETeHl § WRA © 3TN B <hl ShIf3reT <hl 2
(i) ek foaR ¥, STenTeaTdl WUgEl I, AR ¥ FASH W hl HIT

for i oo 3t 8 2 T s |
(iii) ATehdi=eh ToHIfaen sqa%T ford @ adiehl ¥ WRa bl fafauar § wepar =
FAIC TEH H HERIAT i & ? 1+2+2=5

Read the passage given below carefully and answer the following
questions :

The Indian security strategy is geared towards meeting
security challenges within the country. Several militant groups,
from time to time, have sought to break away from India. India has
tried to preserve national unity by adopting a democratic political

system.
) The militants of which two areas have sought to break away from
India ?

(ii))  In your opinion, how far is the demand of the militant groups
to break away from India justified ? Explain.

(iii) In which two ways does the democratic political system help
to bring unity in diversity in India ?

18. = fou U S/ # eAMYEs AR hife R fHfafed Al 6 IW
fafam
U1 U UNUMH Sd Yg Al HHIH o ®9 H §HT | GHSEIE JOITAl
YSHaTel YOIt <l 9818 Il A1 98 — I8 oaRaicde foaTg 316 is 9el T8l
@ | 3 gg & 39 foarg 7 g1 el 1 Sasmn o, gRRR f O Bl 3
off, T BIORMT &% T=F I Serar fear o ... , I Ig % THTE B |
BRI <l 8IS W THTH 81 715 371 Th 3 WATId hl FFITSHT 1 T4 T |

(1) 39 Ig % GRH TH-gHL 8 39 Q8= T3] o AW TR |
(ii) Bl 6 gre 7 fopm rur ¥ wifd <h [ Icud <l 2 Tqse il |

(ifi)  oETY] BRI o = @l dfvaes gaferer & foru s agM wau =i aug
ST B ? 1+2+2=5

HAAAT
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f= fou U sradwn &1 eaHYEs e sy ofit fefafad weAi % 3w

fafa .
Te-fuetar w1 319 et w1 g fumr off 7€ 3 | deerar @ o1 g
? g&ud: gg O wiftd 9 g1 f Aifd +1 9em S | dexyan f Aifd # 9o
FH I <N * I 75 TE0 TE 6 98 Ig 1 Tud HE H Heg B | W
IG U GO 8 B 3R A & g o TR B o IN H IR HI3 9& Bl
3 | S3TEA 3 HRUN § -y qx, MEH 9rd ot i @, Ig | A §¢
g
(i)  Te-Fuerar s gfenfya i |
(i)  Te-FRusrar aun eyt # IIaX TS I |
(iii)  Te-Fae 3 B9 % TTESE, FO oW g § MUA FT FY 2 HIE Th HR
IS 1+42+42=5

Read the passage given below carefully and answer the following
questions :

It meant the end of Cold War confrontations. The ideological
dispute over whether the socialist system would beat the capitalist
system was not an issue any more. Since this dispute had engaged the
military of the two blocs, had triggered a massive arms race and
accumulation of nuclear weapons ........ , the end of confrontation
demanded an end to this arms race and a possible new peace.

(1) Name the two alliances that were in confrontation during the

Cold War.

(i1) Why did the arms race lead to a demand for peace ? Explain.
(iii)) Why was accumulation of nuclear weapons considered as a
great danger to the global environment ?

OR

Read the passage given below carefully and answer the following
questions :

Non-alignment is also not neutrality. Neutrality refers
principally to a policy of staying out of war. States practising
neutrality are not required to help end a war. They do not get involved
in wars and do not take any position on the appropriateness or
morality of a war. Non-aligned states, including India, were actually
involved in wars for various reasons.

(1) Define Non-alignment.

(ii)  Differentiate between non-alignment and neutrality.

(iii) Inspite of being non-aligned states, why were some states involved
in war ? Give any one reason.

591312 9 P.T.0.



() Ok (TH.UUARH) F faega ®9 fafaw |
(i)  ed ® e f feafa @, yra ot wifeheam & wed § = "ew firerar

37?
(iii) HEET <M % S T Hl U H, HRh HI THAA H AThH
I | 1+42+2=5

Study the cartoon given below carefully and answer the following

questions :

d_r}._m{"
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Note :

20.

i)
(ii)

(iii)

Write the full form of SAARC.

What message is being given by the placement of seats in the
cartoon with respect to India and Pakistan ?

Assess the success of SAARC in improving the relations among its
member states.

HEFITIET 597 #acT GIBATIAT TherTiern & o7g, Jo7 ear 19 & €7 WE :

The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 19 :

(19.1)
(19.2)

(19.3)

(19.1)
(19.2)
(19.3)

Ak’ w1 faeqa w9 fafem |

1991 ¥ 9RG qAT H9 o = Gr1 ol 3Tt hifay |

“UNd o g THR I F o HRUT, THeh TSIHT M1 T SHeh! HHrd

T Ik HAT ATTHT B |7 IS Teh IUTH doh <oht 30 HUA i gfte
HIT | 14242=5

Write the full form of SAARC.

Assess the relations between India and China after 1991.

“Given the size and power of India, its neighbours are bound to
be suspicious of India’s intentions.” Justify the statement with
a suitable argument.

= feu U g T SAHYEe A shifviw TR AEfaiad 9vl & SW™
ES

TG AR sean & a1g feufaat seeli | g Jarett ! f=ar g8 fop o7

HTYT < STMYR T TA AT T 1 $HH TN el Tehell © T N b g Wl
TA U B whar 3 | I8 off o TR 3H@ oW % WA SR dreft 3
GHTh-3T( AT & €I Weeh Tohdl 8 | 3Td: hraid Aqcd - 39 "
TR A 1 Haa form | ...

11 P.T.O.



(1)  EaEdn qon faueE % SR 9Rd | g fRET T g aitEdd i 3SR
I |

(i) Faawr 4 3fgRaa ron & A, Tl & S9N I° & TE & o
ISR Tl 1 3T RO 1 3@ I |

(iii) 39 T I Hal o PO TAFE AT 4 FHET & AR R ? DIg Th
3TET i | 242+1=5

HAAT

fo iU T S w1 eAHYEe AR iy 3R fEfiiRed el % 3T
forfee

oW % fush FEdl § wagH SHad 1952 & gU | gAE A0,
HAGH 3R AAUET # $l B8 HeH @l | FAE § IWICaRt o o Jehraan o
BHT — HEdA & HIe o Y IR Infigar IAE o 8 4 o | @R A 36 I
T g-Tg el S — Fot HagmareT # o9 ¥ Afieh I HagH & o et
die Sl | o AW 6 IR HIfNd gY, 9 BRA o 3ufigar) 4 ot &
giomE; ot STy Famen | 9EdlY guh HATUeR % 39 TANT J STTErEehl
g g L e |
(i) T I FATURR § R A 7 2
(i) 1952k W FAEI § TN & HEH T o i Gl HRT T HINT |

(i) WRd H 1952 H gC I 8 I8 H& g & I @ fop g # el o
Ahdd 9T A o3 ST HehdT B 2 1+2+2=5
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Read the passage given below carefully and answer the following
questions :

Things changed after independence and partition. Our leaders felt
that carving out states on the basis of language might lead to disruption
and disintegration. It was also felt that this would draw attention away
from other social and economic challenges that the country faced.
Therefore, the central leadership decided to postpone matters.......

1) Highlight any one major change that took place in India due to
independence and partition.

(i1) Mention two more reasons other than the ones mentioned in the
passage, which were responsible for the postponement of carving
out states.

(iii) Why was this postponement challenged by some local people and
where ? Give any one example.

OR

Read the passage given below carefully and answer the following
questions :

Most parts of the country voted in January 1952. It took six
months for the campaigning, polling and counting to be completed.
Elections were competitive — there were on an average more than
four candidates for each seat. The level of participation was
encouraging — more than half the eligible voters turned out to vote
on the day of elections. When the results were declared, these were
accepted as fair even by the losers. This experiment of Universal
Adult Franchise proved the critics wrong.

) What is meant by Universal Adult Franchise ?

(ii)) Explain any two reasons due to which it took about six
months to complete the first general elections in 1952.

(i1i) How did the elections held in 1952 in India prove that
democracy could be practised anywhere in the world ?

591312 13 P.T.0.
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21. WA % fou U UoHifos WiAFfE (48 16 W), § U TS H
@, ®, ©, © o ® grr awten T B | D @ TE TEER F YR W
Tl 6 TgaH HINT 3R g Igfeded ¥ gk wE am, T H g
SR 1 HA T qAT TrEEd &R, A= & T8 difetert & &9 d fafau :

T bl TS R

. I AT | TST BT M
6T ShE-TET

1)

(i1)

(iii)

(iv)

(v)

(1) 9% TSF SI&T gfeid Yo ATHe |ieA 1 o4 1972 | g3l |

(i) I8 TS Tl TeR Uer 91y feq 2 |
(iii) 98 TSF &l § ARd foham a3 frami o1 steiem & foam o |
(iv) 98 5" 8 319=g 370 % 3Tavia famiy gt foam mm o |

(v) o 99 1ed Y29 S 1987 ° Tsh U= &7 | Ix5=5

591312 a



In the given political outline map of India (on page 16), five States have

been marked as @), ®, ©, D and @ Identify them on the basis of

the information given below and write their correct names in your

answer-book with the respective serial number of the information used

and the concerned alphabet as per the following format :

Sr. no. of the Concerned | Name of the

information used Alphabet State
(1)
(i)
(iii)
(iv)
(v)

) The State, where the organisation called Dalit Panthers was

formed in 1972.

(i1) The State where Sardar Sarovar Dam is situated.

(iii) The State from where BKU started the farmers’ agitation.

(iv) The State which was given a special status under Article 370.

(v)  The Union Territory which became a State in 1987.

15
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I F. 21 & fow For question no. 21
URA T WET-AT e (AT )
Outline Map of India (Political)
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iz :  FAElIRGT g97 Fac FIEETET qhgmdl & o7y, 97 e 21 & T T/
g

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) GER U 914 g TS 1 feog 8 2

(21.2) 38 TS o1 AW faifge & 1961 W ATt o =01 & T T T
o |

(21.3) I A3 HE hT FEATTh dT hid AT 2
(21.4) T T3 1 A= 370 % 3Tava IRy gt fem o 8 2
(21.5)  HH-HT TsT drel-faeht 3Teied = forg S S 8 2 Ix5=5

(21.1) In which State is Sardar Sarovar Dam situated ?

(21.2) Name the State which was liberated from Portuguese control in
1961.

(21.3) Who was the founder leader of the Mizo National Front ?

(21.4)  Which State has been given the special status under
Article 370 ?

(21.5) Which State is known for its Anti-Arrack Movement ?

QU q
SECTION E
22. ToHifd T o foreneff & ®9 #, 39 1975 § AT T IAUTGRTA & HIT-H qH
e HRad & ? 2x3=6
ST

HIE T 1 U AT S 1969 H iU Ul bl faueH A a=an Thd 9 | 2x3=6

As a student of political science, which three lessons do you learn from
the Emergency imposed in 1975 ?

OR

Suggest any three steps that could have helped the Congress Party to
avert a split in 1969.

17 P.T.O.
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23, WNd IR JUTA % W9 AN qAT JAEEHd o gl alal &F W aud

HITT | léx4=6
YT

Id g I THINE % ¢ § HRA — 9F qe4i § AgaqUl Sgad AW & | W

ferrgl = SeATal T v IR | 1é><4=6

Describe any two areas of cooperation and disagreement each between
India and Nepal.

OR

Since the end of the Cold War, there have been significant changes in
India — China relations. Describe any four such changes.

24, “9Nd % UgA Hi AW FATET H, HIUF U o TYI B AR TSI
AMRATE Jehid T g ThNICHS YHTE a1 Uel |7 39 e o 98 H Hhis dH

e ST | 2%3=6
STt

“ara g0 An] foh T fufia steleuawen % wisw I SATClEAT AUl dun
cfeqor 9feRmt g 6 g Gt I M |7 3 HUT o Ud H HIE dF dh
difr | 2x3=6

“Dominance of the Congress Party in the first three general elections in

India, had no negative effect on the democratic nature of Indian politics.”
Give any three arguments to support the statement.

OR
“The model of mixed economy adopted by India was criticised openly from
the left and the right.” Give any three arguments to support the
statement.

25. g HeHEA AT §gd H HEW o SESG, UG % FTUhal TSHITdH Gl & o
I g5 TEAL o fehea] dIM ST o1 G0 I | 2x3=6
JrqaT
TR T AThaitieh ToHIfd 8§ & AThiere, T hl dTeiert aem &sfid Tqe
% T 1 U HIT | 3x2=6

591312 ”



Describe any three elements of consensus that appear to have emerged
among most political parties in India in the midst of severe competition
and many conflicts.

OR
Describe the importance of regional aspirations, power sharing and the
regional balance in democratic politics of India.

26. HERIHAT ¢RI DI <M o T Tra-Y ST W o AT Thd i ot foheal
TR HROT 1 fagame HifF | léx4=6

HAAAT
gifedd @9 & forged o fu Ioer) Tl = wron 1 favay Hifvu | Iéx4=6

Analyse any four reasons that tempted the super powers to have

relations with smaller states.
OR

Analyse any four reasons responsible for the disintegration of the USSR.

27. 3Tk AR T AT NI 8 2 39 Toheal TR ATHT bl sIRedT hifU | 2+4=6

HAIAT

‘reht, T STerT-Ter formeriE — 3gTeer TRt 3Ee 91 Tuse hifsre | =,
ARG qAT A faermsiiel e 1 e Tieiehicl shl STeaaieti ° 1 T W@l
TR ? 3+3=6

What is meant by economic globalisation ? Explain any four advantages
of economic globalisation.

OR

Explain the meaning of ‘Common but differentiated responsibilities’ with
the help of examples. Why were China, India and other developing
countries exempted from the requirements of the Kyoto Protocol ?

591312 19



